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Chapter 19 KE\NEW o

12. PQ, QR, RS, and SP are tangent to ©OX. Find RS. 12. | :’)‘I N
1 1in.
7in,
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13. Find He ciconmcence. of o c«rde. o 13. [T O
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15. Find y. P 15. 67
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16. mel z. g 1{) - &7 | . ‘m - ___C .‘
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17.Find x. >t 7o\ d i _lb
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'L%C%ﬂ) = QX t3) \9><:%9"
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18. Find the center of thegm}cltihose equatlon is ( ')( -)-9;} X+§j L,l L‘q 18. f_—LJ ) )
(X2 +32x1120) T (Y -4y +49) = 4a 1] 449 KHDP* (YT =12
19. F1nd the equatlon of a circle whose center is at (2, 3) and radius is 6 19.
(X-3)" Cg 3)°= 3
20. Find the equation of ©P. 20, );.
S i . . r/; \‘ r'I
X _Jr(\/)”)) =4 |
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Bonus A chord of the circle whose equation is x2 + y2 = 57 is B: ’O (3

tangent to the circle whose equation is 2 + y2 = 32 at

the pomt (4, —4). Find the length of the chord. @ \(Zﬁ\)/ <.
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@ Glencoe/McGraw-Hill 7\ *\Ea‘ = ”) 592 ! S Glencoe Geometry
— <7 ak=I9 Ja



NAME DATE_______ PERIOD.____

Chapter 10 KE.V ILEW SCORE

For Questlons 1-3, use OO —
1. Name a diameter. 1. 7
2. Name a chord. o . 2. Y )

= >

3. Na;ne_ a secaﬁt. ' _ : _ | 8./ XFW

, -
4. If the diameter of a circle is 10 inches, ﬁnd the circumference to the nearest 4. ”), : :{ J
hundredth , N

K

— 1o ~
5.If m/BAD. = 110 in @A, find mDE. . @ 5 5. JO

0570 '

6. Points X and Y lie on OP so that PX = 5 meters and m/XPY = 90. Find the 6. .

length of XY to the nearest hundredth. /I }'S % \ 'ﬂ
qo. = W
A0 TI0TY i 14
7. Chords XY and WV are equidistant from the center 6f ©O. If XY = 2x + 30 7. _L
@dWV 65x — 12, find x. AR+20 = SX— D

' Uy = 3x X= 4
8. Find the radius of @0 if DE = 12 inches and. OM = 3,

i

9. Find «. | g S
0 -102 = S8
o i
10. EFGH is a quad.nlateral inscribed in OP with mZE = 72 and m£F = 49, 10. &l
Find m2H.
11. If AB is tangent to OC at A, find BC. A B 11. ﬁ% |
o 30-0-90 o
. Cn 20 = >
Sin 80 - '/’ o= AHA0)
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Lesson. 10-5

(pages 552=558) . .-

Determine whether each segment is tangent to the given circle.
L~= 14 0O 2.
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Lesson 10-6 ; X = \(5{0 <"}L

Find each measure.;
‘1. m45
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Lesson 10-1

15 . 2.ms6 SUERS 3. me7=| |07

{pages 522-528)

The radius, diameter, or circumference of a circle is given. Find the missing

measures to the nearest hundredth. : _ , )

. 2Ap "L_LH _\'l'\ q “
1 r=18in,d=39 ,C= 0 2. d=3421ftr= C=
3. C=127m, 1"—{‘::? ,d=_1 li"l 4, C=848mi,r = 1?" d— 8
5.d=87cm,r=_27 ,C=_2 4T 6. r=23bin,d = C= ?_

g3 | o

Find the exact c1rcumference of each circle.
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Lesson 10-2 - (pages 529-535)

Find each measure.

!
1. mecxr QU 2. mLLK] A A
3. msLKIL | |5 4 mLLKG {5
5. mLHKL () 6. m,HK], 1<)
In ©X, WS, VR, and Q——T are diameters, m/ WXV = 25 and m/Z VXU = 45, Q

Find each measure. e
7. mQR €10 8. mow Y= W!I
‘ TU 1< - WRU A A5 vV . R
9. mTU US 10. mWRV O _ V o,
1L mSV  |sS 12. WA 45 4' s
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Lesson 10-3
f In ©S, H] = 22, LG =18, mff = 35, and mLM = 30. Find each measure.

1. HR |\ 2.R] |

3. IT @ 4. TG

5. mH] )0 6. mLG ;U

7. mMG Q 20 8. mHI <

In OR, CR = RF, and ED = 30. Find each measure. A

9. 4B 2y 10. EF S \

11. DF 12. BC = B
D

Lesson 10-4 ' (pages 544-551)
Find the measure of each numbered angle for each figure.
1. mAB = 176, and mBC = 42 2. WX =ZY, and mZW = 120 3. mOR = 40, and mTS = 110
el - el = 55,
1 : ,/)k 1 M<| = (0 :q \ 105
Binea= \ WL LY. Sl a4
2-%8 e = 5 WLTES
{A = D0 ' % = o
4 G m\ X ':\l“\'“ A W " W \‘_\‘II > 9%
f_j-'d-wlu. \ ﬂl’l
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' — e — A LG = e — 1 y
4. [JABCD is a rectangle, 5. mTR =100, and SR L QT '''* "6 mUY =mXZ = 56 and
and mBC = 70, = e - mUV = mXW = b6
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7. Rhombus ABCD is inseribed in a circle. What can you conclude about BC?| |- (¢ gy rhistat -\;’“ A '_\'l"'n {
8. Triangle RST is inscribed in a circle. If the measure of RS is 170, what is the measure-of Erﬂ ¥ NV = Al
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